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SN AAEEERENC
Ho: [0I0| W= AN DH(UNDDUE/UYHE)
Ciel: AXIAIIEE X2 (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
02 & ARDHEH| 240,000 240,000
S0 A 240,000 240,000
OYdIoIe 23 2=
150,000, 000& * 1Al 150,000
OHYHoIeH =8 & =4
30,000,000 *33] 90,000
301 LEE M= 19,000 19,000
11 SHAMAHI XIS 2 19,000 19,000
S0 A 19,000 19,000
O4AXA S A D=l K&
5,000,000 *23| 10,000
OtXE e &)t o4 2 &8s X2
50,000& *3H +63| * 10& 9,000
=2ct0! OHAHIE 18,000 0 18,000
201 LEt2AH| 18,000 0 18,000
01 AF22t2lt] 18,000 0 18,000
S0 A 18,000 0 18,000
Ogbt4=24| 18,000
-=2238 0E =420, 23,
I2t2) 500,000 *3H*123] 18,000
ZdA =23 552,700 63,000 484,700
= ZEHO0IX 24 528,700 0 528,700
201 LB AH| 700 0 700
01 AtR2teldl 700 0 700
=20 A 700 0 700
o294 700
- SHO0IX HCtAHEIIRRS B
70,000& x 104 *13] 700
207 APIHEH] 528,000 528,000
02 & ARDHEH| 528,000 528,000
=0 A 528,000 528,000
O EHIOIX & JHHEAMA
500,000,000& 14! 500,000
O EHOIX X2
28,000,000 x1A! 28,000
NS 435} 24,000 63,000 A44.000
201 LBt AY| 21,600 53,600 A32,000
01 AF222telb] 21,600 50,400 28,800
S0 A 21,600 50,400 228,800
Ogdl=ZH| 21,600
-NS AZEEHX 202
100,000& 182 x 12& 21,600
301 LBE M= 2,400 12,000 29,600
11 HAMAHIXI R 2 2,400 12,000 A9,600
=0 A 2,400 12,000 A9,600
OSNS A EE X 2t 600,000 43| 2,400
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=N

mu: UHE G2 2o (AN BRU /YeHE)
ool JI= 22 (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
-LQEDOI A|AE X 2t
6,000,000& *14! 6,000
-HEIISES22ANAE KX 22
7,000,000 *123] 84,000
202 04| 1,200 1,200
01 2yl 1,200 1,200
=20 A 1,200 1,200
O2M&e g2 =4 40,000& *30& 1,200
207 APIHEH] 30,000 30,000
02 & ARDHEH| 30,000 30,000
=0 A 30,000 30,000
OANEZIIEZ A & 22RE 2=
30,000,000 x1A! 30,000
HMSAAH| (AR HASHHE 2SR (DEHDIE} 27,160 0 27,160
[2AH|(4XHM S HE 2= XICH 27,160 0 27,160
J|2ZHI(CIXIEgSAE) 20,200 0 20,200
201 LB AH| 17,200 0 17,200
01 AtR2teldl 17,200 0 17,200
SHSOIA 17,200 0 17,200
202 04| 3,000 0 3,000
01 2LHAH Y] 3,000 0 3,000
SHSOIA 3,000 0 3,000
J2Zd|(EHESHE) 3,480 0 3,480
201 LEL2AHH| 1,680 0 1,680
01 AtR2teld| 1,680 0 1,680
SHSOIA 1,680 0 1,680
202 04| 1,800 0 1,800
01 2Nyl 1,800 0 1,800
SAHZ20IH 1,800 0 1,800
JI23H|(HI0IHH&=2E!) 3,480 0 3,480
201 LB A 1,680 0 1,680
01 AF22telb] 1,680 0 1,680
SHSOIA 1,680 0 1,680
202 04| 1,800 0 1,800
01 =Wyl 1,800 0 1,800
SH=O0I X 1,800 0 1,800




